

#### INTER CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED ALLOCATION OF FUNDS PROPOSAL FINAL APPROVAL DOCUMENT



ICC MEETING DATE: 10/17/2016

EVENT DATE: 11/2/2016

EVENT NAME: Dia de los Muertos

CLUB: MEChA

TOTAL AMOUNT REQUESTED: \$709.07

TOTAL AMOUNT APPROVED: \$370.00

VOTE

YES: 4

NO: 3

#### Meeting Notes

- Nov 2 annual event
- Funding for food but also educate people on what is Dia de los Muertos
- 5-9pm
- at the Amphitheater
- ~300 people
- Working on a backup plan with Connie
- Cut down to \$370

Katelyn Filzgerild ASUCM PRESIDENT SIGNATURE: DATE: 10/24/2016

APPROVED:

NOT APPROVED:

From:	asucm@ucmerced.edu on behalf of Associated Students of UC Merced
То:	UCM Inter-Club Council
Subject:	Form submission from: ICC Proposal Form
Date:	Wednesday, October 05, 2016 10:02:24 PM

Submitted on October 5, 2016 Submitted by anonymous user: [::ffff:169.236.44.32] Submitted values are:

Contact Name (First and Last): Elizabeth Cruz Contact E-Mail: ecruz36@ucmerced.edu Club Name: M.E.Ch.A de Uc Merced Are You a New or Returning Club for the 2015-2016 Academic Year? Returning What Type of Proposal is This? Small Ticket Event Date: Nov. 2, 2015 Start Time of Event: 4:00 pm End Time of Event: 10:00 pm Event Title: Dia de los Muertos Event Location: Amphitheatre Description of Event: We will have our annual Dia de los Muertos Event celebrating and honoring those who have passed. We will have a small and intimate setting filled with altars, Mexican sweet bread, hot chocolate, art and music. Have You Received an ASUCM Line Item for this Event? No Budget Breakdown: http://asucm.ucmerced.edu/sites/asucm.ucmerced.edu/files/webform/diadelosmuertos-budget.pdf Total Amount Requested: \$709.07 Are You Bringing in a Speaker: Yes Description of Speaker (Optional):

The results of this submission may be viewed at: http://asucm.ucmerced.edu/node/135/submission/4661

# INTER-CLUB COUNCIL AT UNIVERSITY OF CALIFORNIA, MERCED - RCO EVENT FUNDING PROPOSAL -

RCO Name: M.E.Ch.A. de UC Merced Event Title: Dia De Los Muertos Total Amount Requested: \$709.07

FACILITY	VENDOR	RENTAL RATE	HOURS O /USE	TOTAL PRICE	
Tables and Chairs	OSL		9 tables 16 chairs		
Generator	OSL				

**<u>FACILITIES</u>** – [insert requested amount here]

## HONORARIUM/SPEAKER – [insert requested amount here] Name(s) of Honorarium/Speaker(s): Description of Services/Cost:

### <u>PERFORMER</u> –[insert requested amount here] Name(s) of Performer(s): Description of Services/Cost:

**<u>ADVERTISING</u>** – [\$30.40]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
<b>Color Prints</b>	UC Merced Library	\$0.38	80	\$30.40	

\$30.40	SUBTOTAL
0	TAX
\$30.40	GRAND TOTAL

# **<u>FOOD/DRINKS</u>** – [\$367.44]

					-
ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
Sweet Bread	Panaderia Guadalajara	\$0.65	200	\$130	_
Hot Chocolate	Panaderia Guadalajara	\$13.50 (per gallon)	15	\$202.50	
Water	Target	\$ 3.25	10	\$32.50	
				\$365	SUBTOTAL
				\$2.44	TAX (if applicable)
				\$367.44	GRAND TOTAL

# <u>OTHER</u> – [\$282.27]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL
Granulated Sugar	Walmart	\$5.75 (10.lbs)	5	\$28.75
Meringue	Walmart	\$12.57 (16 oz)	2	\$25.14

Acrylic paint	Walmart	\$9.97 (24 PACK	4	\$39.88		
Face paint	Joann	\$4.99	20	\$99.80		
Coloring Sheets	UC Merced Library	\$0.04	80	\$3.20		
Flowers	Joann	\$3.29	20	\$ 65.80		
					SUBTOTAL	
						\$262.57
					TAX	\$19.70
					GRAND TOTAL	\$282.27
				1		1

# ADDITIONAL SUPPLIES – [\$28.96]

ITEM	VENDOR	UNIT PRICE (\$x.xx)	# O/ UNITS	TOTAL	
Napkins	Walmart	\$3.98	1	\$3.98	
Cups	Walmart	\$22.97	1	\$22.97	
			I	\$ 26.95	SUBTOTAL
				2.01	TAX
				\$ 28.96	GRAND TOTAL